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3 point problems ( Oéuata 3 povadwv)
3 puanli sorunlar

1. How many of the following four numbers are prime? 2, 20, 202, 2020

Moool and Toug EMOPEVOUG TECOEPELG aplBuoU¢ eival mpwtoy; 2, 20, 202, 2020
Sonraki dort sayinin kag tanesi asaldir?

(A)o (B)1 (€)2 (D)3 (E)4

2. In which of the regular polygons below is the marked angle the largest?
Y€ TTOLO A0 T KAVOVIKA OAUYwVa TIou akoAouBoUv n onuelwHEVN ywvia elval n peyaAutepn;
Asagidaki diizglin cokgenlerinin hangisinde gizili kdse en blylk?

(A) (8) () (o) (E)

3. Miguel solves six Olympiad problems every day and Lazaro solves four Olympiad problems every
day. How many days does it take Lazaro to solve the same number of problems as Miguel solves in
four days?

O MudAng AUvel kaBnuepwva £€L mpoPAnuoata OAvpmiadog kat o Adlapog AUveL KaBnuepLva
téooepa npofAnuata OAvprnadag. Noosg pépeg xpetaletal o Aalapog va emAUCEL ToV (610 aplBuo
TPoPANUATWY TIou 0 MXAANG AUVEL OE TEGOEPLG NUEPEG;

Miguel her giin alti tane Olimpiyat problemi ¢dziiyor ve Lazaro her giin dort tane Olimpiyat problemi
¢Ozlyor. Miguel'in dort glin icinde ¢6zdlgl problemler sayisina erismek Lazaros'un kag glinunu alir?

(A)4 (B)S (C)6 (D)7 (E)8

4. Which of these fractions has the largest value?
Moto amd Ta KAACUOTO QUTA €XEL TN LEYOAUTEPN TLUR;
Asagidaki kesirlerinin hangisinin degeri daha biliytk?
8+5 8 3+5 8+3 3
(A) == Bz (O (D) == (B) 55
5. A large square is divided into smaller squares. In one of the squares a diagonal is also drawn.
What fraction of the large square is shaded?
‘Eva peydAo TETPAYWVO XWPILLETOL O PLKPOTEPO TETPAYWVA. € £Va a0 TA TETPAYWVO YIVETAL EMiONG
pLo Stoywviog. Molo KOPUATL TOU HEYAAOU TETPOYWVOU E(VOL OKLOOUEVOD;
Blylik bir dortgen daha kiiglik dértgenlere boliniyor. Daha kiiglik dortgenlerin bir tanesinde, bir
diyagonal var. Bliylk dortgenin hangi kismi golgeli?
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6. There are 4 teams in a soccer tournament. Each team plays every other team exactly once.

In each match, the winner scores 3 points and the loser scores 0 points. In the case of a draw, both
teams score 1 point. After all matches have been played, which of the following total number of
points is it impossible for any team to have scored?

Yriapyouv 4 opadeg o€ £va toupvoud modoodaipou. KaBe opada nailel kaBe aAAn opada pia
dopa. T kABe aywva, 0 VIKNTAG Ttaipvel 3 TOVTOUG KOl 0 NTTNUEVOG Ttaipvel 0 TOVTOUG.

Jtnv nepintwon woomnaliag, kot ot SUo opadeg maipvouv amnod 1 movro. Metd and 6Aoug Toug
OYWVEC, TIOLO ATTO TA TAPOAKATW GUVOAX TTIOVTWV £lval aduvaTto yla onolodAmoTe opuada va ETUXEL;
Bir futbol turnuvasinda dort tane takim var. Her macgta, kazanan 3 puan, kaybeden de 0 puan alir.
Beraberlik durumunda, her takim 1 puan alir. Biitlin maglardan sonra, herhangi takimin ulagsmasina
imkansiz olan asagidaki puan toplamlarinin hangisidir?

(A)4 (B)S (6 (D)7 (E)8

7. The diagram shows a shape made up of 36 identical small triangles. What is the smallest number
of such triangles that could be added to the shape to turn it into a hexagon?

To Slaypappa Seiyvel £va oxipa anoteAoUEVO amo 36 MAVOUOLOTUTIA HLKPA Tpiywva. Molog ivat o
ULKPOTEPOG OPLOUOC TETOLWV TPLYWVWY TIou Ba pmopoucav va mpooteBolv 6To OO YLo VoL
peTatparnel og e€dywvo;

Diyagram , 36 ayni kii¢lik Gcgenden olusan bir sekil gosteriyor. Bu sekil altigene déniismek icin,
sekile boyle ti¢cgenlerin eklenme sayisinin en kiiglik numarasi hangisidir?

(A)10 (B)12 (C)15 (D)18 (E)24

8. Kanga wants to multiply three different numbers from the following list: —5, —3, —1, 2, 4, and 6.
What is the smallest result she could obtain?

H KoUAa B€AeL va toAamAaolaost Tpelg Stadopetikol aplOpouc amo tnv akoloubn Alota: -5, -3,
-1, 2, 4 koL 6. MNolo sival to pkpoTeEPO amotéAeopa tou Ba prmopoloe va Bpei;

Kanga asagidaki listeden g tane farkli numara carpmak istiyor.

-1,2,3 ve 6. Cikarabildigi en kli¢lik sonug nedir?
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(A) =200 (B) —120 (C)—90 (D) —48 (E) —15

John okula otobiisle gidiyor ve yiiriiyerek déniiyorsa. Bu sekilde gidisi ve déniisii 3 saat siiriiyorsa. iki
gidisini de otobuisle yapmak 1 saatini aliyorsa. iki gidisini yiiriiyerek yaparsa ne kadar zamanini alir?

(A) 3,5 hours (B) 4 hours (C) 4,5 hours (D)5 hours (E) 5,5 hours

10. A number is written in each cell of a 3 X 3 square. Unfortunately the numbers are not visible
because they are covered in ink. However, the sum of the numbers in each row and the sum of the
numbers in two of the columns are all known, as shown by the arrows on the diagram.

What is the sum of the numbers in the third column?

‘Evag aplBuog ypadetal os KAOE TETPAYWVAKL EVOC TETpaywvou 3 x 3. AuoTtuxwc oL aplBuol dev sival
opartol emeldr kaAumtovtol pHe peAdvi. Qotdoo, To ABpoloua TwV aplBpwy os KAOE OELpA KOL TO
aBpolopa Twv aplBuwyv os U0 amod TIg OTHAEC elval OAa yvwota, onwg daivetal amo ta BEAN oto
Staypappa. Moto elvat To aBpolopa Twv aplBuwv otnv Tpitn otnAn;

Bir say1 3x3 bir dortgenin kiiglik bir dértgeninde yaziliyor. Fakat, diyagramdaki ok isaretlerden belli
oldugu gibi hem her siradaki sayilarin toplami hem de stitunlarin iki tanesinde sayilarin toplami
bellidir. Uglincii siitunun sayilarinin toplami hangisidir?

—>24

—>26

=40

27 20

(A)41 (B)43 (C)44 (D)45 (E)47
4 point problems (Ocuata 4 povadwv)
11. Mary has exactly 10 white cubes, 9 light grey cubes and 8 dark grey cubes, all of the same size.

She glues all these cubes together, to build a big cube. Which of the cubes below can be the one she
built?
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H Mapla €xel akpiBwe 10 AeukoU¢ KUBOoUC, 9 avolKTou yKpilou XpwHatog KUBoUG Kal 8 ckoUPouG

vkpiloug kUBoug, oL omoiol £xouv To 610 peyeboc.

KoAAnoe 6Aoug autoug toug KUBouUG padl yla va KATAOKEUAOEL Eva HeyaAo KUBo. Molog armo toug

TIAPAKATW KUPBOUG Umopet va elvat o KUBOG TToU KATAOKEVUALOE;

Mary nin elinde 10 tane beyaz kiip var , 9 tane acik gri renkli kiip ve 8 tane koyu gri renkli kiip var.

Bltln kiplerin boyutu ayni. Bliyiik bir kiip yapmak igin, bitln kipleri birbileriyle yapistirdi. Yaptig
kiip, asagidaki kiiplerinin hangisi olabilir?

12. Anna wants to walk 5 km on average each day in March. At bedtime on 16th March, she realised
that she had walked 95 km so far. What distance does she need to walk on average for the
remaining days of the month to achieve her target?

H Avva B€AeL va tepmtatroeL 5 XIAOUETPA KOTA LECO Opo KAOe puépa tov Maptio. Katd tnv wpa tou
UTtvou oti¢ 16 Maptiou cuveldntonoinoe OtL ixe mepnatiosl 95 XIALOUETPO LEXPL OTLYUNG.

Mola amdotacn XPELAIETOL VO TIEPTIATOEL KATA LECO OPO YLA TLG UTIOAOLUITEG NUEPEC TOU UNvVaA yLa val
TLETUXEL TO OTOXO TNC;

Anna, Mart ayinda, ortalama olarak, her giin 5km yliriimek istiyor. Mart 16sinda, uyku vaktinde, su
ana kadar 95km yurudiguni farketmistir. Hedefine ulasmak icin, ayin geri kalan glinlerinde ortalama
olarak hangi mesafeyi yurimelidir?

(A) 5.4 km (B) 5 km (C) 4 km (D) 3.6 km (E) 3.1 km

13. Which of the following shows what you would see when the object in the diagram is viewed from
above?

Moto amd ta mapakdtw Seiyvel Tt Ba Seite 6Tav TO AVIIKEUEVO 0TO SLAypapa To BAEMOUUE amo
TOVW;

Diyagramdaki objeye yukardan bakarsaniz, asagidakilerin hangisi baktiginizi gésteriyor?

(A) (B) s (O
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14. Every pupil in a class either swims or dances. Three fifths of the class swim and three fifths
dance. Five pupils both swim and dance. How many pupils are in the class?

KaBe pabntng oe pla ta€n eite koAuumna site xopeULel. Ta Tpla MEUTTA TNG TAENC KOAUUITOUV KL TO!
Tpla mMéumta xopeLouv. Névte pabnteg KOAUUTOUV Kat xopeUouv. MNoool pabntécg Bplokovtal otnv
Tagn;

Bir sinifta, her 6grenci ya dans ediyor yada ylizliyor. Sinifin besinin {i¢li ytzliyor ve sinifin besinin ¢l
dans ediyor. Bes 6grenci hem yilziyor hem de dans ediyor. Sinifta ka¢ tane 6grenci var?

(A)15 (B)20 (C)25 (D)30 (E)35

15. Sacha's garden has the shape shown. All the sides are either parallel or perpendicular to each
other. Some of the dimensions are shown in the diagram. What is the perimeter of Sacha's garden?
O kAmoc¢ tou 2apPa £xel To oxNua ou daivetat. OAeg ol MAeUPEG ival eite mapdAnAeg eite
KABeteg PeTaly touc. Oplopéveg amod tic Sltaotdoelg epdavidovrol oto Sidypappa. Mola gival n
TEPLLETPOG TOU KNTIOU TOU 2ABBa;

Sacha’'nin bahgesinin asagida gorilen sekli var. Biitlin yanlar birbileriyle ya paralel yada dik.
Olgiilerinin baZ|Iasr| diyagramda belli oluyor. Sacha'nin bahgesinin perimetresi nedir?

D
A

(A)22 (B)23 (C)24 (D)25 (E)26

16. Andrew buys 27 identical small cubes, each with two adjacent faces painted red. He then uses all
of these cubes to build a large cube. What is the largest number of completely red faces of the large
cube he can make?

O Avdpéag ayopalel 27 i8Loug UKpoUG KUPBOoUC, 0 KaBEvag e SUO YEITOVIKEG E6PEG BAUMEVEG
KOKKLVEC. 2T CGUVEXELA XPNOLUOTIOLEL OAOUG aUTOUC TOUC KUBOUG yLa VAL KOTACKEUAOEL €vVa UEYAAO
KUPo. Molog eival o peyaAltepog aplOoG amno evieAws KOKKLVEG E6PEG TOU EYAAOU KUBoU Tou
propel va kavel;

Andrew 27 tane kigik kip aldi, her birinde kirimizi renkle boyanmis iki komsu yiizey var. Sonra,
bltln bu kipleri, blylk bir kiip yapmak icin kullaniyor. Bliylk kiiptn yapabildigi kirimizi renkli
diizeylerin en biyik sayisi nedir?

(A)2 (B)3 (C)4 (D)5 (E)6

17. A large square consists of four identical rectangles and a small square. The area of the large
square is 49 cm? and the length of the diagonal AB of one of the rectangles is 5 cm.

5
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What is the area of the small square?

‘Eva peyaho TETPAYWVO QOTEAELTAL ATIO TECOEPQ TTAVOUOLOTUTIA 0pBoywvLa KAl EVal UKPO
TETPAywVO. To epPadd Tou peydAou TeTpaywvou eivat 49 cm? kat to prikog tng Staywviov AB gvdg
arno ta opBoywvia eivatl 5 cm. Moto gival To epPado Tou HiKkpoU TETPAYWVOU;

Buliylk bir dortgen, ayni dort dikdortgen ve kigik bir dortgenden olusuyor. Blytk dortgenin
ylizdlcimi 49 cm? ve dikddrtgenlerinin AB diyagonalinin uzunlugu 5cm. Kiigiik dértgenin yiizélglimii
nedir?

2
)

A

(A) 1 cm? (B)4cm? (C)9cm? (D)16cm?  (E)25cm?

18. Werner's salary is 20% of his boss's salary. By what percentage is his boss's salary larger than
Werner's salary?

O uoB6¢ tou Niko givat 20% tou poBoul Tou ageviikol tou. N6co MooooTo HeyaAUTEPOG lval 0
ULoBOC Tou adpeVTIKOU os OoxEon e To HLoBo tou Nikou;

Werner'in maasl, kendi patronunun maasinin 20%si. Nikosun maasina iliskin, patronunun maasi
ylzde kag, daha biliyik?

(A)80%  (B)120%  (C) 180% (D) 400% (E) 520%

19. Irene made a "city" with identical wooden cubes. One of the diagrams shows the view from
above the "city" and the other the view from one of the sides. However, it is not known from which
side the side view was taken. What is the largest number of cubes that Irene could have used?

H Elprivn €kave pia "moAn" pe mavopolotunioug EUALVOUG KUBouc. Eva amd ta Staypappoata deixvet
™V oY amd mavw amd tnv "moANn" kat n AAAn tnv oPn ano pia amno tig mAeupeg. Qotoco, Sev eival
YVWoto amnd nola MAeupd €yve n mAguptkn oYn. Motlog eivat o peyaAltepog aplBuodg kUBwv mou Ba
propoloe va XxpnolomnolioeL n Ewprvn;

irene, birbileriyle ayni ahsap kiipler kullanarak bir “sehir” yapti. Diyagramlarin bir tanesi “sehrinin”
gorinim yukaridan gosteriyor, 6biri de, “sehrinin” gérimind yanlarinin bir tanesinden
gdsteriyor. Fakat , yan gériinimiin yapildigi yan, belli olmadi. irene’nin kullanabildigi en biiyiik kiip
saylsi ne?

(A)25 (B)24 (C)23 (D)22 (E)21

20. Aisha has a strip of paper with the numbers 1, 2, 3, 4 and 5 written in five cells as shown.
She folds the strip so that the cells overlap, forming 5 layers.
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H Avtpn €xel o Awpida xoptiov pe toug aplbuoig 1, 2, 3, 4 KoL 5 ypaPEVOUC O TIEVTE KEALA OTTWG
daivetal. AutAwvel T Awpida £ToL woTe Ta KEALA va emkaAuntovtal, oxnpati{ovrog 5 otpwparta.
Aisha'nin elinde, goriildiigi gibi bes tane kutunun icinde, 1,2,3,4 ve 5 numara yazilmis bir kagit seriti
var. Kutular birbilerini ortlismus bir sekilde, kagit seritini katliyor ve 5 tane kagit tabakasi olusuyor.

11213145

Which of the following configurations from top layer to bottom layer, is it not possible to obtain?
Mola armo TI¢ MaPAKATW SLAUOPPWOELG ATO TO EMAVW CTPWHA OTO KATW OTpWwHaA, Sev elval duvatd
va SnuiloupynBei;

Ust kagit tabakasindan alt kagit tabakasina, asagidaki konfigiirasyonlarinin hangisinin olusmasi
mimkin degildir?

(A)3,5,4,2,1 (B)3,4,5,1,2 (C)3,2,1,4,5 (D)3,1,2,4,5 (E)3,4,2,1,5

5 point problems (Geéuata 5 povadwv)
5 puanli sorunlar

21. Twelve coloured cubes are arranged in a row.

There are 3 blue cubes, 2 yellow cubes, 3 red cubes and 4 green cubes but not in that order.

There is a yellow cube at one end and a red cube at the other end. The red cubes are all touching.
The green cubes are also all touching. The tenth cube from the left is blue.

What colour is the cube sixth from the left?

Awdeka xpwpatiotol kKUPoL eival Statetayuévol oe agelpa. Ymapyxouv 3 e kUBol, 2 Kitpvol KUBoL,
3 KOKKLVOL KUBoL kat 4 tpdactvol KUBoL aAAd OxL e auTH TN oslpd. YIIApXEL £vag Kitplvog KUBOG oTo
€val AKPO Kol Evag KOKKLVOG KUBOG oto Ao akpo. OAol oL KOKKLVoL KUBoL ayyilouv LETALU TOUG.
‘OMot oL mpdoivol kUBot ayyilouv Kat autol petal Toug. O dékatog KUBOG amo ta aplotepd sival
prAe. T xpwpa gival o £ktog KUBOG amod Ta apLoTeEPQ;

Oniki renkli kiip siraya konulmus. 3 mavi kiip, 2 sari kiip,3 kirimizi kiip ve 4 yesil kiip var ama bu
sirayla degil. Bir kenarda sari bir kiip var ve 6bir kenarda kirimizi bir kip var. Batlin kirimizi kiipler
birbilerine degiyor. Bitlin yesil kiipler de birbilerine degiyor. Soldan onuncu kiip, mavi. Soldan altinci
kiipin rengi ne?

(A) green (B) yellow (C) blue (D) red (E) red or blue
(A) mpaowog  (B) kivipwtvog  (C) umAé (D) kKOKKwvog (E) KOKKLVOC 1 UTTAE
(A)yesil (B)sari (C)mavi (D) kirmizi  (E) kirtmizi veya mavi

22. Zaida took a square piece of paper and folded two of its sides to the diagonal, as shown, to
obtain a quadrilateral. What is the size of the largest angle of the quadrilateral?

H Zwn mnpe éva TETpAywvo KOPUATL XopTL Kat SutAwvel SU0 Ao TI¢ TAEUPEG TOU 0T SLaywvLo,
onw¢ daiveral, yla va mapet £va TeTpAnAeupo. Molo sival to péyebog Tng peyalutepng ywviag Tou
TETPAMAEUPOU;

Zaida, dortgenli bir kagit pargasini aldi ve gorildiga gibi, dortkenarli yapmak igin, diyagonlarda,
yanlarinin iki tanesini katliyor. Dortkenarlinin en biyik késesinin boyutu ne?
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(A)112,5° (B) 120° (C) 125° (D) 135° (E) 150°

23. How many four-digit numbers A are there, such that half of the number A is divisible by 2, its
third is divisible by 3, and the fifth is divisible by 5?

MNoéoa tetpandLla voupepa A UTtAPXOUV, £TCL WOTE TO KLOO TOU aplBuol A Statpeital pe 2, to éva
Tpito Tou Slatlpeital Pe 3 Kl TO £va MEUMTO SLOLpELTaL LE TO 5;

A numarasinin yarisi 2'ye, onun Ugte biri 3’e, ve onun besinde biri 5°e bollinebilebilen kag tane dort
basamakli sayl Ada var?

(A)1 (B)7 (C)9 (D)10 (E)11

24. In the final of the dancing competition, each of the three members of the jury gives the five
competitors 0 points, 1 point, 2 points, 3 points or 4 points. No two competitors get the same mark
from any individual judge. Adam knows all sums of the marks and a few single marks, as shown.
How many points did Adam get from judge 111?

YTOV TEAKO Tou Slaywviopol xopou, kaBéva amo ta tpia PEAN TNG KPLTIKAG EMITPOTAG Sivel otoug 5
0OAntég 0 movtoug, 1 movto, 2 movToug, 3 MOVTOUC N 4 TIOVTOUG.

Kavévoc amo toug U0 avtaywvioTtég Sev maipvel tnv iSla Babuoloyia and omolovdnmote KpLtH.

O Adam yvwpilel 6Aa ta cUvoAa(sum) Twv BaBpoloyLwy Kol LEPLKEC LEUOVWHEVES BabpoAoyieg,
onw¢ daivetal. Moécoug movtoug mrpe o Adapu amno tov kpun ll;

Dans yarismasinin finalinda, jiri Gg Gyelerinin her biri, 5 yarismaciya, 0 puan, 1 puan, 2 puan, 3
puan veya 4 puan veriyor. Yarismacilarin ikisinin hicbiri, herhangi bir jiri Gyesinden ayni
derecelendirme almiyor. Gérildiigu gibi, Adam, derecelendirmelerinin toplamlarinin hepsini biliyor
ve bazi tek derecelendirme de biliyor. Ill jiiri Giyesinden, Adam, kag puan aldi?

Adam/A8au | Berti/Beptng | Clara/KAdpa | David/AaBid | Emil/Awiiiog
| 2 0
Il 2 0
1
Sum/30volo/Toplam 7 5 3 4 11
(A)0O (B)1 (D)3 (E)4

25. Saniya writes a positive integer on each edge of a square. She also writes at each vertex the
product of the numbers on the two edges that meet at that vertex. The sum of the numbers at the
vertices is 15. What is the sum of the numbers on the edges of the square?

8
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H ZoUAa ypadel éva BeTikO akEépalo o KABe MAEUPA eVOC TeETpaywvou. Mpadel eniong os kabe
Kopudr TO YLVOUEVO TWV aplBwy Twv SUO TTAEUPWV TTIOU CUVAVTWVTOL OE EKELVN TNV KOpu ).
To aBpolopa Twv aplBuwv otic kopudeg eival 15. MNolo eival To aBpolopa Twv aplBUwWV oTLg
TIAEUPEG TOU TETPAYWVOU;

Saniya dortgenin her yaninda bir tane pozitif tamsayi yaziyor. Birde, her tepe noktasinda, onda
karsilasmis iki yanlarinin sayilarinin garpimini yaziyor. Tepe noktalaridaki sayisinin toplami 15.
Dortgenin yanlaridaki sayisinin toplami ne?

(A)6 (B)7 (C)8 (D)10 (E)15

26. Sophia has 52 identical isosceles right-angled triangles. She wants to make a square using some
of them. How many different sized squares can she make?

H Zodia €xel 52 mavopolotuTia LoooKeAr opBoywvia tpiywva. OEAEL va KAVEL EVal TETPAYWVO
XPNOLLOTIOLWVTAC KATIOLA ATto auTd. Mooa StadopeTikd o péyeBog TETPAYWVA UMOPEL VA KAVEL;
Sophianin elinde 52 tane ayni ikizkenarli dik tiggen var. Bunlarin birkag tanesini kullanarak bir
dortgen yapmak istiyor. Kag farkl boyutlu dértgen yapabiliyor?

(A6 (B)7 (C)8 (D)9 (E)10

27. Cleo builds a pyramid with metal spheres. The square base consists of 4 X 4 spheres as shown in
the figure. The floors consist of 3 X 3 spheres, 2 X 2 spheres and a final sphere at the top.

At each point of contact between two spheres, a blob of glue is placed. How many blobs of glue will
Cleo place?

O KAéapyog xtilel pia mupapida pe petadAkég odaipe. H tetpaywvn Baon amoteleital and 4 x 4
odaipes omwe daivetat oto oxnpa. Ta daneda anotehovuvtal and 3 x 3 odaipeg, 2 x 2 odaipeg kat
pLo Tedkn odaipa otnv kopudr. 2e kGO onpeio emadng petaty dVo odalpwy, TOMoBeTETAL HLa
otpwon kKOAAac. Mooeg otpwoelg KOA o Ba tomobetroel o KAéapxoc;

Cleo, metal kire ile bir piramit yapiyor. Sekilde gériindtgi gibi her diiz dip, 4x4 klreye sahip.
Tabanlar 3x3 kiire, 2x2 kiire ve tepe noktasinda final bir kiireden olusuyor. Her iki kiirenin arasinda
her temas noktasinda bir tane zamk topagi konuluyor. Cleo, ka¢ tane zamk topagi koyacak?

(A)72 (B)85 (C)88 (D)92 (E)96

28. Four children are in the four corners of a 10 m X 25 m pool. Their trainer is standing
somewhere on one side of the pool. When he calls them, three children get out and walk as short a
distance as possible round the pool to meet him. They walk 50 m in total. What is the shortest

9
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distance the trainer needs to walk to get to the fourth child?

Téooepa modld Bplokovral oTig TECOEPLG YWVIES pLaG Tioivag 10 m x 25 m. O ekmalSEUTHG TOUG
OTEKETOL KATIOU 0T Uia mAeupd tng mioivag. Otav toug KaAel, Tpia maldld Byaivouv Kal mepmatouy
TN ULKpOTEPN duvartr andotoon Kovtad oTn miciva yla vo Tov cuvavtroouv. Nepratouv 50 pétpa(m)
OUVOALKA. Mola gival N LIKPOTEPN QMOCTACH TIOU XPELALETAL O EKMALSEUTAG VOL TIEPTIATHOEL YLOL VO
dtdoel oto tETapto maldi;

Dort cocuk 10m x 25 m bir havuzun doért kdsesinde bulunuyor. Onlarin antrendéri havuzunun bir
yaninda duruyor. Onlara ¢agirdiginda, cocuklar ona gitmek icin , havuzunun yaninda bulunan ve
mumkiin olabilen en kisa mesafeyi ylriyorlar. Toplam olarak 50 metre yiriyorlar. Dortlincl ¢cocuga
gitmek icin antrendrinin ylriimesi gereken ve miimkin olabilen mesafe hangisi?

(A) 10 m (B) 12 m (C)15m (D) 20 m (E) 25 m

29. Anne, Boris and Carl ran a race. They started at the same time, and their speeds were constant.
When Anne finished, Boris had 15 m to run and Carl had 35 m to run. When Boris finished, Carl had
22 m to run. What is the distance they ran?

H Avva, o MntopLc kat o KapA £€tpe€av £vav aywva. Apxloav Tautdxpova Kal oL TaxUTNTEG TOUG ATav
otaBepéc. Otav tedsiwos n Avva, o MmopLg eixe 15 pétpa (m) vo tpé€et kat o Kaph gixe 35 pétpa(m)
yla va Tpg€el. Otav tedeiwoe o Mmoplg, o Carl eixe 22 pétpa(m) va tpéel. Mola gival n amootaoh
Tou £tpetay;

Anne, Boris ve Carl bir kosma yarismasinda kostular. Ayni anda basladilar ve onlarin hizi sabitti. Anna
bitiginde, Boris'in kosmasina 15 metre ve Carl in kosmasina 35 metre kaldi. Kostuklari mesafe ne?

(A) 135 m (B) 140 m (C) 150 m (D) 165 m (E) 175 m

30. The statements below give clues to the identity of a four-digit number.
Ot apakdtw SnAwoelg ivouv evdeifelc yia tnv tavtdtnTa £VOC Tetpadndlou aplbuou.
Asagidaki aciklamalar, dért basamakli sayinin kimligine ipucu veriyor.

[~

Two digits are correct but in wrong places. , L , , , ,
Avo Yndia eival cwotd aAAd oe AdBog B€on.

N— iki rakam dogru ama yanlis yerde.
6 | One digit is correct and in the right place. ‘Eva Pnodio eivat cwotd kat otn cwotr Béon.

Bir rakam dogru ve dogru yerde.

Two digits are correct with one of them being in the
right place and the other one in the wrong place

~J [~] [

a| [&]
[~] [=] [e]

Avo Pndia eival owotd pe éva va eival otn
owotn B€on kat to dAAo os AdBog B€on.

o y iki rakam dogru ama bir tanesi dogru yerde ve
One digit is correct but in the wrong place 6biir tanesi yanlis yerde.
‘Eva Yndio sivat cwotd ahhd o AdBog Béon

None of the digits are correct Bir rakam dogru ama yanlis yerde.
Kavéva and ta Yndia dev eivat cwotd

[N [v] [w] [e] [»
=] [N [o] [e] [=]

Rakamlarin higbiri dogru degildir.
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What is the last digit of the four-digit number?

Moo elvat To TeAeutaio Ynoio tou tetpardlou apBuou;
Dort basamakl sayinin son rakami hangisi?

(A)O (B)1 (C)3 (D)5 (E)9
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